xz( 2-m )
gxx=—-1 - —-
2 \r—2m
r
gtt=1-——
r
—gtt
c(n = |2
XX
2-m
1 S
c(r) == d

m:= 1
NN
2'm
1 ——
\/ x2 + y2
A%Xsy) -
2
X 2-m 1
L+ ' c(O,lO ):0.894
2 2 2 2
\J X +y \Yx +y -2m
x = 0,1000.. 10000000 y = 108
0.99999999
0.99999998999~
0.99999998998
(X, )
0.99999998997 [~
0.99999998996
0.99999998995
0
X
2 2
4-m-x - 2.m-x - 2
mXx -y N mx -y m__,
2 3 2
s - 2ml (24 ) 2, 3| R
2 2
(\’x +y —2-m) -(x +y) 2-my
2
2-m-x
+1 2.m-%> 2
(’ 2 2 ) +1\x +y
X +y —2m)\x +y ( P 2 5 )( 2
\/ +y —-2m/\x +
dedy(x,y) = P R
2-m
-1
X2+ 2
2 |- Y
2~m~x2




